
CONTEXT [0] IMPLICIT SEQUENCE

A0 1A
getreq. len=26

02 02 4D C6
INTEGER len=2 request-id = 19910

02 01 00
INTEGER len=1 error-status = noError(0)

02 01 00
INTEGER len=1 error-index=0

30 0E
SEQUENCE len=14 VarBindList

30 0C
SEQUENCE len=12 VarBind

06 08
OBJECT IDENTIFIER name len=8

2B 06 01 02 01 01 01 00
1.3 . 6 . 1 . 2 . 1 . 1 . 1 . 0 (sysDescr.0)

05 00
null len=0 (no value specified)

Figure 27.12 An example of an encoded SNMPv3 get-request for data item
sysDescr with octets shown in hexadecimal and a comment ex-
plaining their meaning below. Related octets have been
grouped onto lines; they are contiguous in the message.


